Sot.uCLoN EXAMEN ONIDADEY 7 Y8  ECUBCOEONES
Y S(STEMAD

s foctos bt deluncioves (Bffso A?uc_)

ZJ) LEALE vc"tff"”"./g oo

{) -5 _ B4+l 1=
& = ¢

ex-13  Zox+y _€-0X ; ox- (3 - 2ck-Y =2 —18Y

12 17, 12
24 _
6X -26¢ + (X :é+lg+9/ Uy =24, X= 7 / X.:/—E’

2) X" e T e T R R e (no hexy 2hi-
‘Z/ Cdomn J?ﬂ-‘l)/)
;2-. =
3) <X +S5x -_-tzs/’ X (uz,;)(’_l.vj) = 6 . ; -
RN & = v Jussb gaes
o £ =
iz,
Lj) 13)&'"-3:@: XZ\*L(:O XN & 7(:1_"‘12
/ / / —_— ?

-t

R N 1225 5./ %

2 -2 — =4 o \.1
e

6 Ace ,XQ-_&&Z_” = 'L__ -y F o , L_ i & < VL ;
) o) / th { C:'/ Ll?( —-’(/ X -:/ X:—f—;:i%—

:}) M‘,ﬁé“’bf“‘\%&ﬁii /m,a;f farga, —=X

T =I5 1-z_x'+zua Y4l o>
er = % \2.x = 1820
3x+z5 = H,:55 .,_‘X + %a _lg,

KESTA.

HES O/?'S/—é

136 = 3/2,5/ a:‘- .
lo- por7o—
/Ezs’: Bx+ L (e28) = HLES iy %
3x+<, S :lf,S‘S_“/’ SX = L‘g(c.S“/‘ X= = ’fﬁfé

2 Y tuze
T



‘7) 3(X+Z):j + T BX+L ~q =F [ Bx-uy =1
J ) 5 . 5_ R )(:“Z"izj

S“J‘I»‘{‘mae;w}o W”U“@C“ 3 2- za) 6
il "6{) % / -~¥\a /3"‘{

/{ ., : . ;
A - X"l‘-Zz((-%)-(—():c:: / X+Z-o=o » X=S

& o
U139 27 ) puflfogonde: X430 =77
(
5 o ol
G4 X4Ex — 2=~ / {UX:-ffi*;L/; k=2 7 X=5

Aal





